ARO01.45-P-7500-06F Oil pan bolt diagram

Upper part of oil pan shown on engine 112
with 4 MATIC

Bolt M6 x20
Bolt M6 x40
Bolt M6 x85
Bolt M8 x30

A WNPF

Upper part of oil pan shown on engine 112
without 4 MATIC

Bolt M6 x20
Bolt M6 x40
Bolt M6 x90
Bolt M8 x30

A WNPRE

Upper part of oil pan shown on engine 113

Bolt M6 x20
Bolt M6 x40
Bolt M6 x90
Bolt M8 x30

A OwWNBRF

© Daimler AG, 1/18/18, G/01/16, ar01.45-p-7500-06f, Oil pan bolt diagram

- I

P01.45-0233-06

P01.45-0236-05

(w]

~

PR T Fak-Hall Wak')

P01.45-0258-05

Page 1 of 1

ENGINE 112 // (except 112.912 /946 /961) ENGINE 112, 113 (except , 113.964) ENGINE 112.945 in MODEL 463.209 /232 /233 /244 /245 /250 ENGINE 113.962 in MODEL 463.206 /240 /241 ...



